
Amphenol Pcd
www.amphenolpcd.com                    Milaero@amphenolpcd.com                       1-978-624-3400 72 Cherry Hill Drive Beverly, MA 01915

Relay Socket Mounting Instructions
Top Mount & Bottom Mount 

Silicone Rubber Gasket 
(Supplied With Relay)

4-40 Pan Head Screw

# 4 Lock Washer

# 10-32 Mounting Stud
# 10 Flat Washer (3)

Mounting Panel

# 10-32 Self-Lock Hex Nut

TOP MOUNT

Silicone Rubber Gasket 
(Supplied With Relay)

4-40 Pan Head Screw

# 4 Lock Washer

# 10-32 Mounting Stud

Mounting Panel

# 10-32 Self-Lock Hex Nut

Non-Enviromental Solder Termination Relay Sockets

BOTTOM MOUNT

Mounting Instructions

Relay Mounting Bracket (Ref.)

Stud
Spacer (.050 Thick)

Lock Washer

.090 Max. Mounting Panel

4-40 Hex Lock Nut

2-56 Screw (4-40 Config. C)

Lock Washer

Relay Mounting Bracket (Ref.)

Stud

Lock Washer

.050 Max. Mounting Panel

4-40 Hex Lock Nut

2-56 Screw (4-40 Config. C)

Lock Washer

Mircominature Relay Sockets

TOP MOUNT

BOTTOM MOUNT

Mounting Instructions

Silicone Rubber Gasket (Supplied With Relay)
Relay Mounting Bracket (Ref.)

Stud
4-40 Hex Lock Nut

Flat Washers

.125 Max. Mounting Panel

4-40 Hex Lock Nut

Relay Mounting Bracket (Ref.)
Stud

4-40 Hex Lock Nut
Flat Washers

.093 Max. Mounting Panel

4-40 Hex Lock Nut

Silicone Rubber Gasket (Supplied With Relay)

10-32 Hex Lock Nut

MIL-PRF-12883/40, MIL-PRF-12883/41
MIL-PRF-12883/47, MIL-PRF-12883/48
MIL-PRF-12883/54, MIL-PRF-12883/55

TOP MOUNT

BOTTOM MOUNT

Mounting Instructions

Silicone Rubber Gasket (Supplied With Relay)
Relay Mounting Bracket (Ref.)

Stud
4-40 Hex Lock Nut

Flat Washers

.125 Max. Mounting Panel

4-40 Hex Lock Nut

Relay Mounting Bracket (Ref.)
Stud

4-40 Hex Lock Nut
Flat Washers

.093 Max. Mounting Panel

4-40 Hex Lock Nut

Silicone Rubber Gasket (Supplied With Relay)

8-32 Hex Lock Nut

TOP MOUNT

BOTTOM MOUNT

MIL-PRF-12883/44, MIL-PRF-12883/45
MIL-PRF-12883/46

Mounting Instructions

26




